

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$21,538,302.71	\$19,616,197.45
Contributions	\$1,056,100.00	\$2,199,660.77
Withdrawals	(\$90,000.00)	(\$360,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$16,638.59	\$112,347.00
Administrative Expense	(\$293.01)	(\$1,616.05)
Investment Expense	(\$468.70)	(\$4,490.22)
Investment Manager Fees	(\$24.34)	(\$767.39)
IFA Loan Repayment	\$0.00	(\$15,425.42)
Adjustment	(\$43,644.55)	(\$43,644.55)
Realized Gain/Loss	(\$2,045.65)	\$159,967.51
Unrealized Gain/Loss	(\$300,385.21)	\$511,950.74
Ending Balance	\$22,174,179.84	\$22,174,179.84

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.96%	N/A	N/A	N/A	N/A	3.42%	07/28/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$106,905.25	\$4,746,484.20
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$105,088.92)	(\$4,940,572.44)
Income	\$426.53	\$6,262.88
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$2,136.36)	\$150,145.95
Unrealized Gain/Loss	(\$106.50)	\$37,679.41
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	11,781.703	543,618.157
Unit Purchases from Additions	0.000	17,017.680
Unit Sales from Withdrawals	(11,781.703)	(560,635.837)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

Performance Summary:

FRANKFORT POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	08/09/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$21,431,397.46	\$14,860,329.12
Contributions	\$1,056,100.00	\$2,107,700.00
Withdrawals	(\$90,000.00)	(\$360,000.00)
Transfers In/Out	\$105,088.92	\$5,095,104.95
Income	\$16,212.06	\$55,818.02
Administrative Expense	(\$293.01)	(\$1,616.05)
Investment Expense	(\$468.70)	(\$4,490.22)
Investment Manager Fees	(\$24.34)	(\$767.39)
IFA Loan Repayment	\$0.00	(\$15,425.42)
Adjustment	(\$43,644.55)	(\$43,644.55)
Realized Gain/Loss	\$90.71	\$6,900.05
Unrealized Gain/Loss	(\$300,278.71)	\$474,271.33
Ending Balance	\$22,174,179.84	\$22,174,179.84

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,149,571.857	1,566,906.060
Unit Purchases from Additions	118,059.546	728,133.937
Unit Sales from Withdrawals	(13,443.226)	(40,851.820)
Ending Units	2,254,188.177	2,254,188.177
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

FRANKFORT POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	0.31%	08/19/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

Statement of Transaction Detail for the Month Ending 05/31/2023

FRANKFORT POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(105,088.92)	8.919671	(11,781.7033)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(43,644.55)	9.970077	(4,377.5540)
05/12/2023	05/15/2023	Redemptions	(90,000.00)	9.927560	(9,065.6717)
05/24/2023	05/25/2023	Contribution	1,056,100.00	9.837097	107,358.9088
05/25/2023	05/26/2023	Transfers In	105,088.92	9.820810	10,700.6367